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[N.B. — Answer all the questions. Each question carries 1 Mark.]

What is the reason of dependency between
rural and urban area?

a. Industrialization

b. Agricultural Development

c. Urbanization

d. Industrialization & Urbanization

How many methods are there to acquire

citizenship?
a.2 b.3
c.4 d.5

Mr. Kader is a citizen of Bangladesh and
he is a Marine Engineer of American Ship.
His Wife stays with him in the ship and
they were gifted by a daughter. What type
of Citizenship does the daughter acquire?

a. Citizenship

b. concentric citizenship

c. Jus Soli

d. Dual Citizenship

What is prime sector of Economy of
Bangladesh?

i. Agriculture & Industry

ii. Trade & Commerce

iii. Service Sector

Which one is correct below?

a. i &ii b.i&iii c.ii&iii d.i,ii &iii
When the first government of Bangladesh
was formed?

a. May, 1971 b. August, 1971

c. April, 1971 d. December, 1971
Which country of given below follow the
Jus Soli Method?

a. China b. Japan

c. The US.A d. India

Which of the following Economic Sector
of Bangladesh earn foreign currency in
adjacent with serving the domestic market
also?

a. Service Sector
c. Agriculture

b. Trade
d. Industrial Sector

8.

10.

11.

12.

13.

14.

What is needed to turn population to
human resource?

a. Territory

b. Vast Population

c. Mills & Factories

d. Education & Training

Most of the people of our country depend
on agriculture. For that reason our country
is called —

a. Industry based Country
b. Agro based Country

c. Farmer based Country

d. Developing Country
The difference between
foreigner is —

i. Citizens are inhabitants of State.

Ii. Foreigners are not citizen

iii. Citizens and Foreigners get equal facilities.
Which one is correct below?

a. i &ii b.i&iii c.ii&iii d.i,ii &iii
Sovereignty is —

i. The Highest Right of State

ii. Supreme Power of the state

iii. Temporary Power

Which one is correct below?

a. i &ii b.i&iii c.ii &iii d.i,ii &iii
Which One is playing the most vital role in
the economy of Bangladesh?

a. Agriculture b. Rural Economy

c. Garments d. Export Industry
Which method is followed for acquiring
the citizenship of Bangladesh?

i. Jus Soli ii. Jus Sanguinis

iii. Formal Grant

Which one is correct below?

a i &ii b.i&iii c.ii &iii d.i,ii &iii
‘A’ is a State. She has 30,000 citizen. What
is name of the State?
a. Vatican City

c. San Marino

citizen and

b. Singapore
d. Maldives



15.

16.

17.

18.

What kind of identity is citizenship for the 19.

inhabitants?

a. International b. National

c. Personal d. Commercial
Which Method is applied for the Child
who is born in Consulate or A Ship?

a. Jus Soli b. Jus Sanguinis 20.
c. Formal Grant d. Dual Citizen

Which sector is working for the
development of Public Welfare?

a. Commercial b. Industrial

c. Service Sector d. Agricultural
What is called the soul of a state?

a. Territory b. Population
c. Government d. Sovereignty

A State will develop, if —

I. She has good citizen

ii. Population turn into human resource

iii. Citizen have their proper political right
Which one is correct below?

a. i &ii b.i&iii c.ii &iii d. i, il &iii
Which sector highlights the bright
prospects of the development of
Bangladesh?

a. Home Craft

b. Tea

c. Jute

d. Ready Made Garments



